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QUESTION 1

Refer to exhibit: 

You are using Restore Virtual Machine for a given virtual machine. Which result is achieved by thrs operation? 

A. Virtual machine boot partition mapped as IS image to another VM 

B. New snapshot added to existing virtual machine 

C. New linked-clone created 

D. New virtual machine created out of this backup 

Correct Answer: C 

 

QUESTION 2

A customer has a remote office with very limited rack space. Which HPE SimpliVity model best meets this customer\\'s
needs? 

A. HPE SimpliVity 325 GenI0 

B. HPE SimpliVity 380 GenI0 G 

C. HPE SimpliVity 2600 

D. HPE SimpliVity 380 GenI0 H 
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Correct Answer: C 

 

QUESTION 3

Which criteria does HPE SimpliVity use to decide how many streams it needs to copy data to an HPE Storence target? 

A. datastore size 

B. VM size 

C. available bandwidth 

D. latency requirements 

Correct Answer: B 

 

QUESTION 4

A customer wants to deploy HPE SimpliVity for a VDI Implementation. They need to add two NVIDIA GPU accelerators
per hypervisor, and they have limited space in the data center. Which HPE SimpliVity model meets the customer
needs? 

A. HPE SimpliVity 2600 

B. HPE SimpliVity 325 Gen10 

C. HPE SimpliVity 380 Gen 10 LFF H 

D. HPE SimpliVity 380 Ge10G 

Correct Answer: B 

 

QUESTION 5

A customer has development virtual machines that do not require storage HA. How can the customer save storage
capacity within an HPE SimpliVity cluster? 

A. By disabling HA cluster functionality for HPE SimpliVity Federation 

B. By placing them on HPE Storence instead of HPE SimpliVity 

C. By disabling the HA feature for only these virtual machines at vCenter Server 

D. By creating a single-replica datastore for these virtual machines 

Correct Answer: D 
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